
1) (9 x 23) x (9 x 92)

Answer: ____________

2) (-3619) + (-2859)

Answer: ____________

3) (10 x 1-5) x (2 x 109)

Answer: ____________

4) (-1217) + (-7417)

Answer: ____________

5) (-2480) + 4902

Answer: ____________

6) (3 x 95) / (9 x 3-4)

Answer: ____________

7) 3217 + (-1955)

Answer: ____________

8) (9 x 22) / (2 x 6-7)

Answer: ____________

9) (4 x 49) x (6 x 106)

Answer: ____________

10) (5 x 106) x (7 x 98)

Answer: ____________

11) (2 x 29) x (1 x 102)

Answer: ____________

12) (4 x 21) x (8 x 62)

Answer: ____________

13) (6 x 41) / (2 x 1-2)

Answer: ____________

14) (4 x 61) / (6 x 5-6)

Answer: ____________

15) (3 x 37) x (3 x 1-4)

Answer: ____________
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16) 8632 + (-2363)

Answer: ____________

17) (7 x 108) / (2 x 6-2)

Answer: ____________

18) (8 x 99) x (8 x 43)

Answer: ____________

19) (5 x 21) x (3 x 101)

Answer: ____________

20) (9 x 45) / (6 x 1-1)

Answer: ____________

Total: ___ / 20
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